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José Ferrer (1835-1916)

42
4

Y - J

2

3—3—3

#
0——2

3
2

1—4

2—2—2

2

Andante maestoso

J=90
N 44,

File MSCZ da: tabguitar.it

VA V4
o

ey ™

LS

—0—0—-0—4——0—F—0—0—0—0

||

T

N 44,

-

A
4

Y atiid

ln”‘

T

4><2—
42—

3—3—3

0—4

1

2

2—2—2

1—4

2

0—0—0—0—4——0—F—0—0—0—+10

T—1—1—=2

2—3=14

2-4-1-0

4-4

0——0-——0——0———0-

2-2

15

2——1

4-4
0——0+——0——0——0—-——0

5-5

0
V)

0—0-4~~2—70

2

=

1]

g @

L 4

=
20200 4o

w‘"/&
o
S dias

1&?

/o

rer

TP

\\3))
¢
8

IT
74
o
71
o
nui
o
!
(e\]
L4
4
o
|
S
o
Al
<
y
i
]
T
7|11
AR
LT
I
[
]
ﬂn/_ o
1]
1]
(e]e] <
%An

At |1

[ WY S IR
i il
= 1] ]
U <o | o
WL
|9 5
< 7
<
U J/_ o qu
= | |
U ||
=il
: S LI
<
N S
D
H o T
D
o
N (L
i 7
i
o
Y
o
Al
r
s wa vl
==
B
<€ <100

27

CreativeCommons4.0

yWilkinson

Fonte:free-scores.com_transcr. Ton



